

SOME PARAMETRIC CONGRUENCES INVOLVING GENERALIZED CENTRAL TRINOMIAL COEFFICIENTS

CHEN WANG AND ZHI-WEI SUN*

ABSTRACT. For $n = 0, 1, 2, \dots$ and $b, c \in \mathbb{Z}$, the n th generalized central trinomial coefficient $T_n(b, c)$ is the coefficient of x^n in the expansion of $(x^2 + bx + c)^n$. In particular, $T_n = T_n(1, 1)$ ($n = 0, 1, 2, \dots$) are central trinomial coefficients. Let p be an odd prime. For any $b, c \in \mathbb{Z}$ with $p \nmid bc(b + 2c)$, we determine

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c^2)}{4^k (b + 2c)^k} \quad \text{and} \quad \sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c)}{(4b)^k}$$

modulo p^2 . As consequences,

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k}}{12^k} T_k \equiv \left(\frac{p}{3}\right) \frac{3^{p-1} + 3}{4} \pmod{p^2}$$

provided $p > 3$ (where $(-)$ denotes the Legendre symbol), and

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(2, -1)}{8^k} \equiv \begin{cases} 2x - p/(2x) \pmod{p^2} & \text{if } p = x^2 + 4y^2 \ (x, y \in \mathbb{Z}) \text{ and } 4 \mid x - 1, \\ 0 \pmod{p^2} & \text{if } p \equiv 3 \pmod{4}. \end{cases}$$

1. INTRODUCTION

For any $n \in \mathbb{N} = \{0, 1, 2, \dots\}$ and $b, c \in \mathbb{Z}$, the generalized central trinomial coefficient $T_n(b, c)$ (cf. [12]) is defined as the coefficient of x^n in the expansion of $(x^2 + bx + c)^n$ (or the constant term in the expansion of $(x + b + c/x)^n$). By the multinomial theorem, it is clear that

$$T_n(b, c) = \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n}{2k} \binom{2k}{k} b^{n-2k} c^k, \tag{1.1}$$

where $\lfloor x \rfloor$ is the floor function. The generalized central trinomial coefficients have many interesting combinatorial interpretations; for example, from (1.1), it is easy to see that $T_n(b, c)$ with $b, c \in \mathbb{N}$ counts the colored lattice paths from $(0, 0)$ to $(n, 0)$ using only steps $U = (1, 1)$, $D = (1, -1)$ and $H = (1, 0)$, where H and D may have b and c colors, respectively. Note that $T_n := T_n(1, 1)$ is the n th central trinomial coefficient and $T_n(2, 1)$ is exactly the central

2020 *Mathematics Subject Classification*. Primary 11A07, 11B75; Secondary 05A10, 11B65.

Key words and phrases. Congruences, generalized central trinomial coefficients, binomial coefficients, harmonic numbers.

*Corresponding author.

binomial coefficient $\binom{2n}{n}$. The generalized central trinomial coefficients are also related to the well-known Legendre polynomials

$$P_n(x) := \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} \left(\frac{x-1}{2}\right)^k = \sum_{k=0}^n \frac{\binom{n}{k} \binom{2k}{k}}{2^k} (\sqrt{x^2-1})^k (x - \sqrt{x^2-1})^{n-k} \quad (1.2)$$

(cf. [4, p. 38]) via the following identity (see [12, 16, 15]):

$$T_n(b, c) = (\sqrt{d})^n P_n\left(\frac{b}{\sqrt{d}}\right), \quad (1.3)$$

where $d = b^2 - 4c \neq 0$.

It is known that sums involving products of the binomial coefficients (e.g., $\binom{2k}{k}$, $\binom{2k}{k}^2$, $\binom{2k}{k} \binom{3k}{k}$, $\binom{2k}{k}^3$) usually have some interesting congruence properties. Since $T_n(b, c)$ is a natural extension of $\binom{2n}{n}$, Z.-W. Sun [16, 15] investigated congruences for sums involving generalized central trinomial coefficients systematically. In particular, Sun [16, Theorem 2.1] determined

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c)}{m^k} \pmod{p}$$

for any $b, c, m \in \mathbb{Z}$ and odd prime p with $p \nmid m$. As a corollary, he obtained that

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k}{12^k} \equiv \left(\frac{6}{p}\right) \sum_{k=0}^{p-1} \frac{\binom{4k}{2k} \binom{2k}{k}}{64^k} \equiv \left(\frac{p}{3}\right) \pmod{p}, \quad (1.4)$$

where $(-)$ denotes the Legendre symbol. For more congruence properties of the generalized central trinomial coefficients, one may consult [2, 5, 6, 10, 16, 15].

As in [7], for any $n \in \mathbb{N}$ and $x \in \mathbb{C}$, we define

$$w_n(x) := \begin{cases} \frac{(\alpha+1)\alpha^n - (\alpha^{-1}+1)\alpha^{-n}}{\alpha - \alpha^{-1}}, & \text{if } x \neq \pm 1, \\ 2n+1, & \text{if } x = 1, \\ (-1)^n, & \text{if } x = -1, \end{cases}$$

where $\alpha = x + \sqrt{x^2 - 1}$.

The first purpose of this paper is to establish the following parametric congruence as a generalization of (1.4).

Theorem 1.1. *Let p be an odd prime and let $b, c \in \mathbb{Z}$ with $p \nmid c(b+2c)$. Then*

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c^2)}{4^k (b+2c)^k} \equiv w_{(p-1)/2} \left(\frac{b-6c}{b+2c}\right) \pmod{p^2}. \quad (1.5)$$

Applying Theorem 1.1 with $b = c = 1$, we obtain the following result conjectured by Sun [16, Conjecture 2.1].

Corollary 1.1. *For any prime $p > 3$, we have*

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k}{12^k} \equiv \left(\frac{p}{3}\right) \frac{3^{p-1} + 3}{4} \pmod{p^2}. \quad (1.6)$$

Now we state our second theorem.

Theorem 1.2. *Let p be an odd prime. For any $b, c \in \mathbb{Z}$ with $p \nmid b$, we have*

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c)}{(4b)^k} \equiv p \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}}{4k+1} \left(\frac{c}{b^2}\right)^k \pmod{p^2}. \quad (1.7)$$

Consequently,

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(2, -1)}{8^k} \equiv \begin{cases} 2x - p/(2x) \pmod{p^2} & \text{if } p = x^2 + 4y^2 \text{ (} x, y \in \mathbb{Z} \text{) and } 4 \mid x - 1, \\ 0 \pmod{p^2} & \text{if } p \equiv 3 \pmod{4}. \end{cases} \quad (1.8)$$

To deduce (1.8) from (1.7), we need the following auxiliary result.

Theorem 1.3. *Let p be an odd prime. Then*

$$\begin{aligned} & p \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}}{(-4)^k (4k+1)} \\ & \equiv \begin{cases} 2x - p/(2x) \pmod{p^2} & \text{if } p = x^2 + 4y^2 \text{ (} x, y \in \mathbb{Z} \text{) and } 4 \mid x - 1, \\ 0 \pmod{p^2} & \text{if } p \equiv 3 \pmod{4}. \end{cases} \end{aligned} \quad (1.9)$$

We are going to prove Theorem 1.1 and Corollary 1.1 in the next section, and show Theorems 1.2 and 1.3 in Section 3.

2. PROOFS OF THEOREM 1.1 AND COROLLARY 1.1

In order to show Theorem 1.1, we need the following transformation of $T_n(b, c^2)$ which follows from (1.3) and [4, (3.136)].

Lemma 2.1. *For $n \in \mathbb{N}$ and $b, c \in \mathbb{Z}$ we have*

$$T_n(b, c^2) = \sum_{k=0}^n \binom{n}{k} \binom{2k}{k} (b+2c)^{n-k} (-c)^k. \quad (2.1)$$

Proof. Denote the right-hand side of (2.1) by a_n . Via the Zeilberger algorithm (cf. [13]), we find the following recurrence :

$$-(b-2c)(b+2c)(n+1)a_n + b(2n+3)a_{n+1} - (n+2)a_{n+2} = 0 \quad (n \in \mathbb{N}).$$

Note that the same recurrence holds for $T_n(b, c^2)$. Moreover, it is easy to see that $T_0(b, c^2) = a_0$ and $T_1(b, c^2) = a_1$. Thus (2.1) follows by induction on n . \square

Lemma 2.2. *Let $n, j \in \mathbb{N}$ with $n \geq j$. Then we have*

$$\sum_{k=j}^n \frac{\binom{2k}{k} \binom{k}{j}}{4^k} = \frac{n+1}{2^{2n+1}(2j+1)} \binom{n}{j} \binom{2n+2}{n+1}. \quad (2.2)$$

Proof. This can be easily proved by induction on n . \square

Kh. Hessami Pilehrood, T. Hessami Pilehrood and R. Tauraso [7, Theorem 2] completely determined

$$\sum_{k=0}^{(p-3)/2} \frac{\binom{2k}{k} t^k}{2k+1} \pmod{p^3},$$

where p is an odd prime and t is a p -adic unit. We need their result in the modulus p case.

Lemma 2.3 (cf. [7, Theorem 2]). *For any odd prime p and $t \in \mathbb{Z}_p^\times$, we have*

$$\sum_{k=0}^{(p-3)/2} \frac{\binom{2k}{k} t^k}{2k+1} \equiv \frac{w_{(p-1)/2}(1-8t) - (-16t)^{(p-1)/2}}{p} \pmod{p}. \quad (2.3)$$

Lemma 2.4. *For any odd prime p , we have*

$$\binom{2p}{p} \equiv 2 \pmod{p^2} \quad \text{and} \quad \binom{p-1}{(p-1)/2} \equiv (-1)^{(p-1)/2} 4^{p-1} \pmod{p^2}.$$

Proof. These can be verified directly for $p = 3$. For $p > 3$, we even have $\binom{2p}{p} \equiv 2 \pmod{p^3}$ by J. Wolstenholme [18] and $\binom{p-1}{(p-1)/2} \equiv (-1)^{(p-1)/2} 4^{p-1} \pmod{p^3}$ by F. Morley [11]. \square

Proof of Theorem 1.1. By Lemmas 2.1 and 2.2, we have

$$\begin{aligned} \sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c^2)}{4^k (b+2c)^k} &= \sum_{k=0}^{p-1} \frac{\binom{2k}{k}}{4^k} \sum_{l=0}^k \binom{k}{l} \binom{2l}{l} \left(\frac{-c}{b+2c} \right)^l \\ &= \sum_{l=0}^{p-1} \binom{2l}{l} \left(\frac{-c}{b+2c} \right)^l \sum_{k=l}^{p-1} \frac{\binom{2k}{k} \binom{k}{l}}{4^k} \\ &= \frac{p \binom{2p}{p}}{2^{2p-1}} \sum_{l=0}^{p-1} \frac{\binom{2l}{l} \binom{p-1}{l} \left(\frac{-c}{b+2c} \right)^l}{2l+1}. \end{aligned}$$

Note that $\binom{2l}{l} / (2l+1) \equiv 0 \pmod{p}$ for $l \in \{(p+1)/2, \dots, p-1\}$ and $\binom{p-1}{l} \equiv (-1)^l \pmod{p}$ for $0 \leq l < p$. Thus we have

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c^2)}{4^k (b+2c)^k} \equiv \frac{\binom{2p}{p} \binom{p-1}{(p-1)/2}^2 \left(\frac{-c}{b+2c} \right)^{(p-1)/2}}{2^{2p-1}} + \frac{p \binom{2p}{p}}{2^{2p-1}} \sum_{l=0}^{(p-3)/2} \frac{\binom{2l}{l} \left(\frac{-c}{b+2c} \right)^l}{2l+1} \pmod{p^2}.$$

In view of Lemma 2.4, we arrive at

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c^2)}{4^k (b+2c)^k} \equiv \left(\frac{-16c}{b+2c} \right)^{(p-1)/2} + \frac{p}{4^{p-1}} \sum_{l=0}^{(p-3)/2} \frac{\binom{2l}{l} \left(\frac{c}{b+2c} \right)^l}{2l+1} \pmod{p^2}.$$

Then we complete the proof by Lemma 2.3 and Fermat's little theorem. \square

Proof of Corollary 1.1. To show (1.6), it remains to prove

$$w_{(p-1)/2} \left(-\frac{5}{3} \right) \equiv \left(\frac{p}{3} \right) \frac{3^{p-1} + 3}{4} \pmod{p^2}. \quad (2.4)$$

It is easy to see that

$$w_{(p-1)/2} \left(-\frac{5}{3} \right) = \frac{(-1)^{(p-1)/2}}{4} \left((1/3)^{(p-1)/2} + 3 \times 3^{(p-1)/2} \right).$$

From [8, p. 51], we know that $a^{(p-1)/2} \equiv \left(\frac{a}{p} \right) \pmod{p}$ for any integer $a \not\equiv 0 \pmod{p}$. Thus we may write $3^{(p-1)/2}$ as $\left(\frac{3}{p} \right) (1 + ph)$, where h is a p -adic integer. In view of this,

$$3^{p-1} = (3^{(p-1)/2})^2 \equiv 1 + 2ph \pmod{p^2}.$$

By the above and with the help of the law of quadratic reciprocity (cf. [8]), we get

$$\begin{aligned} w_{(p-1)/2} \left(-\frac{5}{3} \right) &= \frac{(-1)^{(p-1)/2}}{4} \left(\frac{1}{\left(\frac{3}{p} \right) (1 + ph)} + 3 \left(\frac{3}{p} \right) (1 + ph) \right) \\ &\equiv \frac{(-1)^{(p-1)/2}}{4} \left(\frac{3}{p} \right) (4 + 2ph) \\ &\equiv \frac{3^{p-1} + 3}{4} \left(\frac{3}{p} \right) \left(\frac{-1}{p} \right) \\ &= \left(\frac{p}{3} \right) \frac{3^{p-1} + 3}{4} \pmod{p^2}. \end{aligned}$$

This proves (2.4). \square

3. PROOFS OF THEOREMS 1.2 AND 1.3

To show Theorem 1.3, we need the following identity due to Kummer (cf. [1, p. 126]).

Lemma 3.1. *For any $a, b \in \mathbb{C}$ with $a, a - b, a/2 - b \notin \{-1, -2, -3, \dots\}$, we have*

$$\sum_{k=0}^{\infty} \frac{(-1)^k (a)_k (b)_k}{(1)_k (a - b + 1)_k} = \frac{\Gamma(a - b + 1) \Gamma\left(\frac{a}{2} + 1\right)}{\Gamma(a + 1) \Gamma\left(\frac{a}{2} - b + 1\right)},$$

where $(x)_k = \prod_{0 \leq j < k} (x + j)$ is the Pochhammer symbol and $\Gamma(\cdot)$ stands for the Gamma function.

We also need Morita's p -adic Gamma function Γ_p (cf. [14]), where p is an odd prime. Recall that $\Gamma_p(0) := 1$ and

$$\Gamma_p(n) := (-1)^n \prod_{\substack{1 \leq k < n \\ p \nmid k}} k \quad \text{for } n = 1, 2, 3, \dots$$

Let \mathbb{Z}_p denote the ring of all p -adic integers. The definition of Γ_p can be extended to \mathbb{Z}_p since \mathbb{N} is a dense subset of \mathbb{Z}_p with respect to the p -adic norm. It follows that

$$\frac{\Gamma_p(x+1)}{\Gamma_p(x)} = \begin{cases} -x, & \text{if } x \not\equiv 0 \pmod{p}, \\ -1, & \text{if } x \equiv 0 \pmod{p}. \end{cases}$$

It is known (cf. [14, p. 369]) that for any $x \in \mathbb{Z}_p$ we have

$$\Gamma_p(x)\Gamma_p(1-x) = (-1)^{\langle x \rangle_p - 1}, \quad (3.1)$$

where $\langle x \rangle_p$ is the least nonnegative residue of x modulo p . It is also known (cf. [17]) that for $\alpha, t \in \mathbb{Z}_p$ we have

$$\Gamma_p(\alpha + tp) \equiv \Gamma_p(\alpha) (1 + tp(\Gamma_p'(\alpha) + H_{p-1-\langle -\alpha \rangle_p})) \pmod{p^2}, \quad (3.2)$$

where $H_n = \sum_{k=1}^n 1/k$ denotes the n th harmonic number.

Proof of Theorem 1.3. It is easy to verify that

$$\sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}}{(-4)^k(4k+1)} = \sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{2})_k(\frac{1}{4})_k(-1)^k}{(1)_k(\frac{5}{4})_k}. \quad (3.3)$$

We first assume that $p \equiv 1 \pmod{4}$. In this case, $\text{ord}_p(p/(5/4)_k) \geq 0$ for all k among $0, 1, \dots, (p-1)/2$, where $\text{ord}_p(\cdot)$ stands for the p -adic order. It is easy to verify that

$$\begin{aligned} & p \sum_{k=0}^{(p-1)/2} \frac{(\frac{1-p}{2})_k(\frac{1-2p}{4})_k(-1)^k}{(1)_k(\frac{5}{4})_k} \\ & \equiv p \sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{2})_k(\frac{1}{4})_k(-1)^k}{(1)_k(\frac{5}{4})_k} \left(1 - \frac{p}{2} \sum_{j=0}^{k-1} \frac{1}{1/2+j} - \frac{p}{2} \sum_{j=0}^{k-1} \frac{1}{1/4+j} \right) \pmod{p^2} \end{aligned}$$

and

$$\begin{aligned} & p \sum_{k=0}^{(p-1)/2} \frac{(\frac{2-p}{4})_k(\frac{1-p}{4})_k(-1)^k}{(1)_k(\frac{5}{4})_k} \\ & \equiv p \sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{2})_k(\frac{1}{4})_k(-1)^k}{(1)_k(\frac{5}{4})_k} \left(1 - \frac{p}{4} \sum_{j=0}^{k-1} \frac{1}{1/2+j} - \frac{p}{4} \sum_{j=0}^{k-1} \frac{1}{1/4+j} \right) \pmod{p^2}. \end{aligned}$$

On the other hand, by Lemma 3.1 we have

$$\begin{aligned} & \sum_{k=0}^{(p-1)/2} \frac{\left(\frac{1-p}{2}\right)_k \left(\frac{1-2p}{4}\right)_k (-1)^k}{(1)_k \left(\frac{5}{4}\right)_k} = \lim_{t \rightarrow 1} \sum_{k=0}^{\infty} \frac{\left(\frac{1-tp}{2}\right)_k \left(\frac{1-2tp}{4}\right)_k (-1)^k}{(1)_k \left(\frac{5}{4}\right)_k} \\ &= \lim_{t \rightarrow 1} \frac{\Gamma\left(\frac{5}{4}\right) \Gamma\left(\frac{5-tp}{4}\right)}{\Gamma\left(\frac{3-tp}{2}\right) \Gamma\left(\frac{4+tp}{4}\right)} = \frac{\Gamma\left(\frac{5}{4}\right) \Gamma\left(\frac{p-1}{2}\right)}{\Gamma\left(\frac{p-1}{4}\right) \Gamma\left(\frac{4+p}{4}\right)} \lim_{t \rightarrow 1} \frac{\sin\left(\frac{3-tp}{2}\pi\right)}{\sin\left(\frac{5-tp}{4}\pi\right)} = (-1)^{(p-1)/4} \frac{2\Gamma\left(\frac{5}{4}\right) \Gamma\left(\frac{p-1}{2}\right)}{\Gamma\left(\frac{p-1}{4}\right) \Gamma\left(\frac{4+p}{4}\right)}, \end{aligned}$$

where we have used the well-known formula $\Gamma(x)\Gamma(1-x) = \pi/\sin(\pi x)$ (cf. [14, p. 371]). Also,

$$\sum_{k=0}^{(p-1)/2} \frac{\left(\frac{2-p}{4}\right)_k \left(\frac{1-p}{4}\right)_k (-1)^k}{(1)_k \left(\frac{5}{4}\right)_k} = \frac{\Gamma\left(\frac{5}{4}\right) \Gamma\left(\frac{10-p}{8}\right)}{\Gamma\left(\frac{6-p}{4}\right) \Gamma\left(\frac{8+p}{8}\right)}.$$

Combining the above we obtain

$$p \sum_{k=0}^{(p-1)/2} \frac{\left(\frac{1}{2}\right)_k \left(\frac{1}{4}\right)_k (-1)^k}{(1)_k \left(\frac{5}{4}\right)_k} \equiv \sigma_1 - \sigma_2 \pmod{p^2},$$

where

$$\sigma_1 := \frac{2p\Gamma\left(\frac{5}{4}\right) \Gamma\left(\frac{10-p}{8}\right)}{\Gamma\left(\frac{6-p}{4}\right) \Gamma\left(\frac{8+p}{8}\right)} \quad \text{and} \quad \sigma_2 := (-1)^{(p-1)/4} \frac{2p\Gamma\left(\frac{5}{4}\right) \Gamma\left(\frac{p-1}{2}\right)}{\Gamma\left(\frac{p-1}{4}\right) \Gamma\left(\frac{4+p}{4}\right)}.$$

By [9], we have

$$H_{\lfloor p/2 \rfloor} \equiv -2q_p(2) \pmod{p} \quad \text{and} \quad H_{\lfloor p/4 \rfloor} \equiv -3q_p(2) \pmod{p},$$

where $q_p(2)$ denotes the Fermat quotient $(2^{p-1} - 1)/p$. It is easy to see that

$$\frac{\Gamma\left(\frac{10-p}{8}\right)}{\Gamma\left(\frac{8+p}{8}\right)} = (-1)^{(p-1)/4} \frac{8\Gamma_p\left(\frac{10-p}{8}\right)}{p\Gamma_p\left(\frac{8+p}{8}\right)}.$$

Thus, by (3.1) and (3.2) we have

$$\begin{aligned} \sigma_1 &= \frac{16\Gamma_p\left(\frac{5}{4}\right) \Gamma_p\left(\frac{5}{4} - \frac{p}{8}\right)}{\Gamma_p\left(\frac{3}{2} - \frac{p}{4}\right) \Gamma_p\left(1 + \frac{p}{8}\right)} \\ &\equiv -\frac{16\Gamma_p\left(\frac{5}{4}\right)^2}{\Gamma_p\left(\frac{3}{2}\right)} \left(1 - \frac{p}{8}H_{\lfloor p/4 \rfloor} + \frac{p}{4}H_{\lfloor p/2 \rfloor}\right) \\ &\equiv -2\Gamma_p\left(\frac{1}{4}\right)^2 \Gamma_p\left(\frac{1}{2}\right) \left(1 - \frac{p}{8}q_p(2)\right) \pmod{p^2}. \end{aligned}$$

Similarly, it is not hard to find that

$$\frac{\Gamma\left(\frac{5}{4}\right)}{\Gamma\left(\frac{4+p}{4}\right)} = (-1)^{(p-1)/4} \frac{4\Gamma_p\left(\frac{5}{4}\right)}{p\Gamma_p\left(\frac{4+p}{4}\right)}.$$

Thus, by (3.1) and (3.2) we arrive at

$$\begin{aligned}
\sigma_2 &= (-1)^{(p-1)/4} \frac{8\Gamma_p(\frac{5}{4})\Gamma_p(\frac{p-1}{2})}{\Gamma_p(\frac{p-1}{4})\Gamma_p(\frac{4+p}{4})} \\
&\equiv (-1)^{(p+3)/4} \frac{8\Gamma_p(\frac{5}{4})\Gamma_p(-\frac{1}{2})}{\Gamma_p(-\frac{1}{4})} \left(1 + \frac{p}{2}H_{\lfloor p/2 \rfloor} - \frac{p}{4}H_{\lfloor p/4 \rfloor}\right) \\
&\equiv -\Gamma_p\left(\frac{1}{4}\right)^2 \Gamma_p\left(\frac{1}{2}\right) \left(1 - \frac{p}{4}q_p(2)\right) \pmod{p^2}.
\end{aligned}$$

In view of the above, we have

$$p \sum_{k=0}^{(p-1)/2} \frac{(\frac{1}{2})_k (\frac{1}{4})_k (-1)^k}{(1)_k (\frac{5}{4})_k} \equiv -\Gamma_p\left(\frac{1}{4}\right)^2 \Gamma_p\left(\frac{1}{2}\right) \pmod{p^2}.$$

By [3], if $p = x^2 + 4y^2$ ($x, y \in \mathbb{Z}$) with $x \equiv 1 \pmod{4}$ then

$$-\Gamma_p\left(\frac{1}{4}\right)^2 \Gamma_p\left(\frac{1}{2}\right) \equiv 2x - \frac{p}{2x} \pmod{p^2}.$$

Thus, with aid of (3.3), we have (1.9) in the case $p \equiv 1 \pmod{4}$.

Now we consider the remaining case $p \equiv 3 \pmod{4}$. Note that $\text{ord}_p(4k+1) = 0$ for $k = 0, 1, \dots, (p-1)/2$. Therefore, by Lemma 3.1 we have

$$\begin{aligned}
p \sum_{k=0}^{(p-1)/2} \frac{(-1)^k (\frac{1}{2})_k (\frac{1}{4})_k}{(1)_k (\frac{5}{4})_k} &\equiv p \sum_{k=0}^{(p-1)/2} \frac{(-1)^k (\frac{1-p}{2})_k (\frac{1-2p}{4})_k}{(1)_k (\frac{5}{4})_k} \\
&= p \lim_{u \rightarrow (1-p)/2} \sum_{k=0}^{(p-1)/2} \frac{(-1)^k (u)_k (u - \frac{1}{4})_k}{(1)_k (\frac{5}{4})_k} \\
&= p \lim_{u \rightarrow (1-p)/2} \frac{\Gamma(\frac{5}{4})\Gamma(\frac{u}{2} + 1)}{\Gamma(u+1)\Gamma(\frac{5}{4} - \frac{u}{2})} \\
&= \frac{p\Gamma(\frac{5}{4})\Gamma(\frac{5-p}{4})}{\Gamma(\frac{4+p}{4})} \lim_{u \rightarrow (1-p)/2} \frac{1}{\Gamma(u+1)} = 0 \pmod{p^2},
\end{aligned}$$

where in the last step we have used the fact that

$$\lim_{u \rightarrow n} \frac{1}{\Gamma(-u)} = \frac{1}{\pi} \lim_{u \rightarrow n} \Gamma(1+u) \sin((u+1)\pi) = 0 \quad \text{for each } n \in \mathbb{N}.$$

Combining this with (3.3), we find that (1.9) also holds in the case $p \equiv 3 \pmod{4}$.

By the above, we have completed the proof of Theorem 1.3. \square

Proof of Theorem 1.2. In view of (1.1) and Lemma 2.2, we have

$$\begin{aligned}
 \sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c)}{(4b)^k} &= \sum_{k=0}^{p-1} \frac{\binom{2k}{k}}{4^k} \sum_{j=0}^{\lfloor k/2 \rfloor} \binom{k}{2j} \binom{2j}{j} \left(\frac{c}{b^2}\right)^j \\
 &= \sum_{j=0}^{(p-1)/2} \binom{2j}{j} \left(\frac{c}{b^2}\right)^j \sum_{k=2j}^{p-1} \frac{\binom{2k}{k} \binom{k}{2j}}{4^k} \\
 &= \frac{p \binom{2p}{p}}{2^{2p-1}} \sum_{j=0}^{(p-1)/2} \frac{\binom{2j}{j} \binom{p-1}{2j}}{4j+1} \left(\frac{c}{b^2}\right)^j.
 \end{aligned}$$

If $p \equiv 3 \pmod{4}$, then $p \nmid (4j+1)$ for all $j = 0, 1, \dots, (p-1)/2$. In this case, by Lemma 2.4 and Fermat's little theorem, we have

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c)}{(4b)^k} \equiv p \sum_{j=0}^{(p-1)/2} \frac{\binom{2j}{j}}{4j+1} \left(\frac{c}{b^2}\right)^j \pmod{p^2}.$$

Now suppose $p \equiv 1 \pmod{4}$. Then, by Lemma 2.4, we have

$$\begin{aligned}
 \sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(b, c)}{(4b)^k} &= \frac{p \binom{2p}{p}}{2^{2p-1}} \sum_{\substack{0 \leq j \leq (p-1)/2 \\ j \neq (p-1)/4}} \frac{\binom{2j}{j} \binom{p-1}{2j}}{4j+1} \left(\frac{c}{b^2}\right)^j + \frac{\binom{2p}{p} \binom{(p-1)/2}{(p-1)/4} \binom{p-1}{(p-1)/2}}{2^{2p-1}} \left(\frac{c}{b^2}\right)^{(p-1)/4} \\
 &\equiv p \sum_{\substack{0 \leq j \leq (p-1)/2 \\ j \neq (p-1)/4}} \frac{\binom{2j}{j}}{4j+1} \left(\frac{c}{b^2}\right)^j + \binom{(p-1)/2}{(p-1)/4} \left(\frac{c}{b^2}\right)^{(p-1)/4} \\
 &= p \sum_{j=0}^{(p-1)/2} \frac{\binom{2j}{j}}{4j+1} \left(\frac{c}{b^2}\right)^j \pmod{p^2}.
 \end{aligned}$$

Combining the above, we have proved (1.7).

In light of Theorem 1.3,

$$\sum_{k=0}^{p-1} \frac{\binom{2k}{k} T_k(2, -1)}{8^k} \equiv p \sum_{k=0}^{(p-1)/2} \frac{\binom{2k}{k}}{(-4)^k (4k+1)} \pmod{p^2}.$$

Combining this with (1.7), we immediately obtain (1.8). This ends our proof. \square

Acknowledgments. We are grateful to the anonymous referee for valuable suggestions. This work is supported by the National Natural Science Foundation of China (grants 12201301 and 12371004, respectively)

REFERENCES

- [1] G.E. Andrews, R. Askey and R. Roy, *Special Functions*, Encyclopedia of Mathematics and its Applications 71, Cambridge University Press, Cambridge, 1999.
- [2] J.-Y. Chen and C. Wang, *Congruences concerning generalized central trinomial coefficients*, Proc. Amer. Math. Soc. **150** (2022), 3725–3738.
- [3] S. Chowla, B. Dwork and R. J. Evans, *On the mod p^2 determination of $\binom{(p-1)/2}{(p-1)/4}$* , J. Number Theory **24** (1986), 188–196.
- [4] H.W. Gould, *Combinatorial Identities*, Morgantown Printing and Binding Co., 1972.
- [5] V.J.W. Guo, *Some congruences involving powers of Legendre polynomials*, Integral Transforms Spec. Funct. **26** (2015), 660–666.
- [6] V.J.W. Guo and J. Zeng, *New congruences for sums involving Apéry numbers or central Delannoy numbers*, Int. J. Number Theory **8** (2012), 2003–2016.
- [7] K. Hessami Pilehrood, T. Hessami Pilehrood and R. Tauraso, *Congruences concerning Jacobi polynomials and Apéry-like formulae*, Int. J. Number Theory **8** (2012), 1789–1811.
- [8] K. Ireland and M. Rosen, *A Classical Introduction to Modern Number Theory*, 2nd Edition, Grad. Texts in Math. 84, Springer, New York, 1990.
- [9] E. Lehmer, *On congruences involving Bernoulli numbers and the quotients of Fermat and Wilson*, Ann. Math. **39** (1938), 350–360.
- [10] J.-C. Liu, *A supercongruence involving Delannoy numbers and Schröder numbers*, J. Number Theory **168** (2016), 117–127.
- [11] F. Morley, *Note on the congruence $2^{4n} \equiv (-1)^n(2n)!/(n!)^2$, where $2n+1$ is a prime*, Ann. Math. **9** (1895), 168–170.
- [12] T.D. Noe, *On the divisibility of generalized central trinomial coefficients*, J. Integer Seq. **9** (2006), Art. 06.2.7, 12pp.
- [13] M. Petkovšek, H.S. Wilf and D. Zeilberger, *A = B*, A K Peters, Wellesley, 1996.
- [14] A.M. Robert, *A Course in p -adic Analysis*, Graduate Texts in Mathematics, 198. Springer-Verlag, New York, 2000.
- [15] Z.-W. Sun, *Congruences involving generalized central trinomial coefficients*, Sci. China Math. **57** (2014), 1375–1400.
- [16] Z.-W. Sun, *On sums related to central binomial and trinomial coefficients*, in: M.B. Nathanson (ed.), Combinatorial and Additive Number Theory: CANT 2011 and 2012, Springer Proc. in Math. & Stat., Vol. 101, Springer, New York, 2014, pp. 257–312.
- [17] C. Wang and H. Pan, *Supercongruences concerning truncated hypergeometric series*, Math. Z. **300** (2022), 161–177.
- [18] J. Wolstenholme, *On certain properties of prime numbers*, Quart. J. Pure Appl. Math. **5** (1862), 35–39.

(CHEN WANG) DEPARTMENT OF APPLIED MATHEMATICS, NANJING FORESTRY UNIVERSITY, NANJING 210037, PEOPLE'S REPUBLIC OF CHINA

E-mail address: cwang@smail.nju.edu.cn

(ZHI-WEI SUN) DEPARTMENT OF MATHEMATICS, NANJING UNIVERSITY, NANJING 210093, PEOPLE'S REPUBLIC OF CHINA

E-mail address: zwsun@nju.edu.cn